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2 ن  
0.5 ن   8519309 + 9385,64 = 8528694,64 

  
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

1.5 ن 4 ن    
  

2 ن  
0.5 ن   

 

 8528694,64 – 982,5217 = 8527712,1183  
1.5 ن   

 
2 ن  

1,5 ن    
2351 x 42,37 = 99611,87 
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0.5 ن  
 

 
0.5 ن  

 

 
 

 

2 ن  86875 : 625  

1,5 ن    86875 : 625 = 139  

0.5 ن   
 

 
2 + 1 = 4 + 1 = 5  

 3​ 6​ 6​ 6​ 6  

 
0.5 ن  

 

 3 × 5 = 15  

2 ن  
2​ 6​ 12 
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0.5 ن  

 

 15 − 7 = 30 − 21 = 9​ 15 − 7 = 120 − 84 = 36 
 12​ 8​ 24​ 24​ 24​ 12​ 8​ 96​ 96​ 96  
 

0.5 ن  
 

 
9​ 𝟑​ 36​ 𝟑 
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24​ 𝟖​ 96​ 𝟖 

 

 

2,5 ن  

 
1 ن  

 
 

35min 60min 14h

1h 31s​ 60s​ 35min​ 1min 

13h 94min 91s 
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1.5 ن    13h 94min 91s − 12h 48min 40s = 1h 46min 51s 
 

1 ن 1 ن    64 × 8 = 82 × 23 4 
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0.5 ن  
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1 ن  

 

 𝟏 < 𝟒 < 3,25 < 3,4 < 4 
 

 𝟒​ 𝟓  

 
3 ن  

1.5 ن  
 

 
2,62 

50 000 x​ = 1310 DH : 
100 6 
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1.5 ن   50 000 + 1310 = 51310 DH 

3 ن  
1.5 ن   ±1° 
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1.5 ن    ±1° 

 
1 ن  

 

 
 

 

2 ن  90°+ 90°+ NÎO + 140° = 360° 8 

1 ن  
 

 
NÎO 360° − (90°+ 90° + 140°) 

 
NÎO = 360 − 320° = 40° =  

 

 

  

2 ن  

1 ن  
 

 
6cm  
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1 ن  
 

 

 

 

2 ن  

0.5 ن  A  
 

 
 

0.5 ن 10  B 

0.5 ن  C 

0.5 ن  D  

 
2 ن  

0.5 ن     
0.5 ن 11   

1 ن   

 
 

2 ن  

0.5 ن  1,5 km 3500 m = 50000dm  
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0.5 ن  65Kg 8452,7hg 1760g = 9,1203q 

0.5 ن  3dam2 12,81m2 7532cm2 = 313,5632ca 

0.5 ن  23dam3 9,14hl 150dal = 23002,414m3 

 
 

1.5 ن  

0.5 ن  
 

 𝑃 = 2𝜋r (2 × 𝜋 × r)​   P = 𝜋D (𝜋 × D) 
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1 ن  

 
 

P = 2 × 3,14 × 2cm = 12,56cm 

P = 3,14 × 4cm = 12,56cm 

 
1.5 ن  

0.5 ن  
 

 S = L ×l  
14 

1 ن  
 

 S = 4m × 3m = 12m2 
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3 ن  
1.5 ن   V = 𝜋𝑟2 × h 15 

1.5 ن   V = 3,14 × 12m2 x 3m = 9,42 m3 

0.5 ن  
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